Graceville State School



Year 3 & 4 2020

ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "BGX4" as your code

by Wednesday 11th December 2019

PREPACKAGED COLLECTION SERVICE

ALL ORDERS MUST BE PRE-PAID BY CREDIT CARD (MasterCard and Visa accepted).

DELIVERY ORDERS placed by the due date, will be sent to your nominated address in the fortnight ending 24 January 2020. Additional charges apply for late orders.

COLLECTION ORDERS will be available on Wednesday 22nd January 2020 between 9am to 12noon, at the School Hall. Please ensure you tick the School Collection box for this option. Please bring identification to collect your order. NO PAYMENT WILL BE COLLECTED AT SCHOOL.

Campion Education has been appointed as the preferred supplier for your book packs and all online orders will benefit our school and the school community.



Important notes for ordering your educational resources

Completing your resource list

- Go to <u>www.campion.com.au</u> and use the **code** on the front cover to sign in or create a new account. Creating an account will allow you to
 place multiple orders per delivery address, e.g. 2 students.
- Provide a physical address for delivery i.e. a home, work, grandparents or friend's address.
- Packs are addressed to the student, so for work addresses please provide extra information, such as a parent's and company name.
- Boarders tick the 'Boarder' option and provide the school's address including the words 'Boarding House', to have the pack delivered to the school.
- Please order one of each item on the list unless a larger quantity is shown next to the tick box. Compulsory items will be preselected for you.
- Please collect your order from the school on the date specified on the front of the resource list. A friend or relative can collect on your behalf.
- If you cannot collect from the school on this date, please choose Home Delivery.
- If you choose to purchase your resources at our Retail Service Centre, please note that digital products **must be ordered online** as these items cannot be processed at our Retail Service Centre.

Ordering access to digital products

- · Your resource list may contain items that can only be ordered online at www.campion.com.au
- · After ordering, access to these products is provided by email, per product, or at school at the start of Term 1.
- · Emails providing digital access will include instructions to complete the set-up of each product.
- Unless otherwise stated, all digital products are single user, 1 year licences.
- Please order digital products carefully as returns and refunds cannot be provided on these items.

Payment

- · Full payment is required at the time the order is placed.
- · Payment can be made Credit Card (Mastercard and Visa accepted). Cheques cannot be accepted.
- · Prices on this list are correct at the time of printing and are subject to change without notice.

Late Orders

- If you missed ordering by the due date, you can still order online at www.campion.com.au but the only delivery option is to a physical address. Delivery times will be 5 to 7 working days from date of order.
- Stock availability cannot always be guaranteed for late orders. Delivery charges for late orders are \$5.50 per item, up to a maximum of \$19.95 per student order.

Oversized items and supplier delays

• Items that have not arrived from suppliers at the time of delivery will either be posted to your delivery address or distributed at school as agreed with your school. Oversized items will be distributed at your school.

Returns and refunds

- · Exchanges and refunds will be made on goods deemed faulty from the manufacturer.
- Refunds may be provided for textbooks in original condition (including shrink-wrapping, where applicable) until Thursday the 13th of February 2020 or two weeks after the purchase date, whichever is later.
- · Digital products cannot be returned or refunded.

Retail Service Centre hours:

Our Retail Service Centre hours are:
 November - March: Monday to Friday 9:00am to 5:00pm.

 Extended trading: Saturdays 11th January, 18th January and 25th January - 9:00am to 1:00pm.
 Closed from 5:00pm Friday 20th December and re-open 9:00am Thursday 2nd January. Also closed on Monday 27th January 2020.
 April - October: Refer to Campion Retail Service Centre or our website for trading hours.

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	√ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	RESOURCE LIST					
	YEAR 3 ONLY					
F03712	STARS Plus (Level to be advised)	1	Ш	1	22.00	22.00
	Distributed by School					
P12666	QLD Targeting Handwriting Student Book 3 [Young & Pinsker]	2		1	15.95	15.95
P13264	Enrichematics Book 3 3E [Joshua]	3		1	19.95	19.95
P58621	Clipboard A4 Black ECO Enviro	4	Ц	1	8.25	8.25
	YEAR 4 ONLY					
F03712	STARS Plus (Level to be advised)	5	1.1	1	22.00	22.00
	Distributed by School					
P12667	QLD Targeting Handwriting Student Book 4 [Young & Pinsker]	6		1	15.95	15.95
P13264	Enrichematics Book 3 3E [Joshua]	7		1	19.95	19.95
	Retain from previous year		<u> </u>			
	GENERAL REQUIREMENTS FOR ALL STUDENTS					
P56352	Project Book #523 335x240mm 8mm 24 Page	8	Ш	1	2.25	2.25
P50327	Exercise Book A4 48 Page QLD Year 3/4 Ruled (12mm)	9	Ш	8	1.30	10.40
P56489	Sketch Pad A3 - 30 Lf	10	\Box	1	7.50	7.50
P55546	Exercise Book A4 8mm 64 Page	11		2	1.10	2.20
P55665	Grid Book 225x175mm 7mm Quad 48 Page	12	Ц	2	0.95	1.90
P51317	Display Book A4 40 Pocket Insert Cover Black	13	L L	2	12.45	24.90
P55480	Document Wallet Polydoc Foolscap Black	14	L L	3	2.35	7.05
P58510	Eraser Plastic Pencil Large With Sleeve	15	Ц	3	0.40	1.20
P56242	Sharpener Pencil Barrel Double Hole (EL)	16	Ц	1	2.05	2.05
P56253	Pencils-Coloured Crayola 12's Assorted	17	Ц	1	4.95	4.95
P51274	Pencil (HB) Micador Essential Box of 20	18	Ц	3	6.15	18.45
P55340	Compass CO5 Metal	19	Ц	1	2.95	2.95
P56353	Protractor 10 cm 180 4" Half Circle	20	Ļ	1	0.45	0.45
P56414	Ruler 300mm Plastic Clear	21	Ц	1	0.75	0.75
P55654	Glue School Stick UHU Blue 40 gm	22	Ц	4	3.30	13.20
P56216	Pencil Case Tartan Giant 375mm x 264mm 2 Zip	23	Ц	1	4.60	4.60
P56197	Pencil (6B) Copperplate	24	H	1	0.55	0.55
P56194	Pencil (4B)	25		1	0.80	0.80
P56182 P58507	Pencil (2B) Tradition	26	H	1	0.80	0.80
P51308	Scissors 155mm Plastic Handle	27	ᆜ	1	2.95	2.95
P51306	Marker Pilot SCA-F Black Fine	28	ᆜ	1	4.00	4.00
P55976	Highlighters Micador ECO Wallet Pack 4	29	닉	1	3.00	3.00
P55413	Oil Pastels Micador L24 Box 24 Large Assorted Colours	30	H	1	12.95	12.95
P55808	Crayons Crayola Twistables Wallet 12's	31	H	1	6.95	6.95
P55258	Markers Connector Pens Wallet 10/12 Assorted	32		1	6.00	6.00
P51123	Calculator Sharp Basic EL-240SAB	33		1	14.95	14.95
P52248	Post It Note Full Adhesive 76 x 76mm Asstd 4pk	34		1	12.90	12.90
P52082	Lanyard Flat with Swivel Clip - Black USB Pocket Flash Drive 16GB - NO RETURNS	35 36		1	3.10 11.95	3.10 11.95
F07413		36 37		1 1	26.85	26.85
1 0/413	3 x Paper Copy A4 (210x297) 80gsm White Ream Distributed by School	31		ı	20.83	∠0.83
	RETAIN FROM PREVIOUS YEAR					
P55686	Headset Multimedia With Microphone & Volume Control	38	ш	1	15.75	15.75
	Essential Items required, in addition to the above:		_			
	1 - Library bag - available at the Uniform Store					
	1 Swimming can available at the Uniform Store					

1 - Swimming cap - available at the Uniform Store

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	1 - Sunsafe Swimwear - source your own					
	1 - Tissues - large box - source your own					

Number of Boxes ticked:	
Delivery, packaging & handling	\$9.95
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 21/11/19)	\$